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1. Introduction

This document describes a method to simulate effect of handover measurement error to the network performance. Results of this simulation can be used as input when measurement accuracy requirement is specified in 25.133.

2. Proposed model

The needed tool is a dynamic network simulator employing handover algorithm. Simulated cell scenario should be according 25.942 (hexagonal macro cells with omni BSs, Eb/No requirements, etc.). UE should periodically perform CPICH_Ec/No = RSCP/RSSI measurements from fading channel. Measurement frequency should be [100] Hz and [33] Hz per each BS in the simulated system. Fading channel should be 1 tap rayleigh channel. Error should be added to the calculated CPICH_Ec/No value by using the following formula:

CPICH_Ec/No = (Ec/No)calculated + err
(1)

Where (Ec/No)calculated  and err are given in decibels. Err is a log-normally distributed error with mean 0 dB and standard deviation of (.

Proposed algorithm also requires modeling of filtering. It is proposed that moving average with [10] sample window is used.

Handovers may occur when specified events occur. Possible events are,  1) Ec/No from a candidate set BS exceeds addition limit, event 1A, 2) Ec/No from an active BS falls below dropping limit, event 1B  and 3) Ec/No from a candidate set BS exceeds Ec/No level from an active set BS with margin in such a case that active set was full, event 1C.

In case 1) addition limit should be [3] dB below strongest BS in active set. In case 2) dropping limit should be [5] dB below strongest BS in active set. In case 3) replacement  hysteresis should be [1] dB above weakest BS in active set. All these events occur after timer((T) expired. (T should be [100] ms. Maximum active set size should be [2] BSs.

The simulated service should be low bit rate date with [32] kbps data rate with processing gain of [20.8] dB. Power control target should be [3.1] dB in uplink and [4.5] dB in downlink. The number of data users should be in average [10] users/cell. No birth-death models are used, but fixed loading is assumed.

An important model effecting results is mobility model. Mobility model for macro cells described in /1/ should be used. The simulated mobile speed is [5], [50] and [80] km/h. Propagation models are according macro cell model described in 25.942.

3. Expected simulation result

Expected results from simulation is increase in noise rise and downlink total transmission power when error (() in measurement is varied. Based on simulation results effect of measurement inaccuracy to the performance of the network can be studied and further, measurement accuracy requirement can be specified in 25.133.

4. Conclusions

In this document a method to simulate effect of error in handover measurement was proposed.
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